MITSUMI SAFLEyREIC PST91XX
YATFLY vy MNAIC
Monolithic IC PST91 XX Series
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RL=470, VoL=04V -3%| 19 | +3%
RHERE Vs 1 A%
Vec=H—L typ. | (0.1V | typ.
AFv7)
EXFUT REE AVs 1 RL=470, Vcc=L—H—L 30 50 100 | mV
HRHEERERM X Vs/ AT 1 RL=470, Ta= —20~+75C £0.01 %/C
LowL NJVHHAEFE VoL 1 Vee=Vs min.—0.05V, RL=470 02 | 04 | V
HAU -8R Ton 1 Vee=10V, Vo=Vcc +0.1| uA
ONB¥[E[FRER TecL 1 Vee=Vs min.—0.05V, RL=co 10 | 20 | uA
OFFEFMEIFRE R IccH 1 Vee=Vs typ./0.85V, RL = o 15 | 25 | uA
“H B B AR tpLH 2 CL=100pF, RL=4.7k 20 | 60 | us
“LmEE R tpHL 2 CL=100pF, RL=4.7k 20 | 60 | us
EMFRAREE VorL 1 RL=4.7k, VoL=04V 065 | 085 | V
Vo=04V RL=0,
ONBFHHER 1 IoL1 1 5 mA
Vee=Vs min.—0.05V, Vo=04V
Ta= —30~ +80C, Vo=04V
ONESHAER 2 ToL2 1 a 0 3 mA
RL=0, Vcc=Vs min.—0.15V
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